1. a-b=4v2 L, a2+ b* - 2ab - 4(a - b) - 8 9] F+S Fatole}
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a®>+b*—2ab-4(a-b) -8
=(a-b)?-4(a-b)-8
= (4V2)2 -4x4v2-8
=32-16V2-8=24-16V2




2. a+b=2,a*-b*=10 € W, a-b 9 & Ftoieh

a’>-b?>=(a+b)la-b)=2x(a-b)=10
“a-b=5




4 £(x). glx) ol ot fg% ~ax+ b2 UERYO] ), Gab o]
gre Fofoler,

f(x) =6x2 +9x+3, g(x) =6x+6

f(x)  6x2+9x+3

g(x)  6x+6
_3(x+1)(2x+1)
B 6(x+1)

1
.‘.6ab=6x1x§:3
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-1x1=-1

® x%y + xy? = xy(x +y)




5.

(x+y)(x +y+2) - 3& QIR 5197

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
@(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-D(x+y-2)

~&B

x+y=Azel EOH,

AA+2)-3=A2+24-3
=(A-1)(A+3)
=(x+y-1)(x+y—+3)
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6.

= A2 — 14A + 49

=(A-17)?

=2+ x-7)2




7. Oa deEe] el ol 8d T4 B AL=2H? (Ha>0,b>0)

WAyl dy -1 = - (D2 -y +1)=x - (2y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@)a? - 2ab + b* = (a - b)?
@)a?-b? = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

~&B ~

X% —4y? +4y-1

=x>-(H?-4y+1)

=x2-(2y-1)%2 .- [a®>-2ab+b* = (a—-b)?]
=(x+2y-1)(x-2y+1) - [@®*-b*=(a+b)(a-b) ]
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